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a) 3x2+10x +8 = Bx + 4)(x +2)
b) 6a? + 11ab —2b% = (a + 2b)(6a — b)
o) xty—xy* =xy(x3 - %) = xy(x = »)(x? + xy +?)
d) 81a® +3=3((3a)® +13) =3(3a + 1)(9a® —3a + 1)

BECLBENVEEERTIDE, BIE3x+2 RURBX+6E585.
(&Y, 3x3 —4x2 +12x+16 = (x2 —2x +5)Bx +2) + (x + 6) &EXHEB.)

a) P(Q)=23+45:22-2.2-24=0. Th&VY, PX) AR x -2 TCE>1-EE2DRUB 0 THBIE, THDS
P(x) & x =2 TEUTINBZEA DN 3.
b) P(x) #x—2TEBE, P(x) = (x—2)(x24+7x+12). (x2+7x+12) #SSICEHARLT P(x) = (x —2)(x +
3)(x + 4).
¢) x34x2—6x = x(x—2)(x+3) EEHNBRSINDD T, BARKKIE (x—2) (x+3), B/I\DBHIE x (x—2)(x +3)(x +4).

a) a% b) 3x~2 c) 2 d) 9x2y3
1 8ab — 6a + 5b —x(2x —13) x—3
D be ®) 15ab ) Z—Dhax13) Y -G ha
x +27 x4+ 14 y—Xx 1
R T P D ar2re-o) &0 R Vo

(6] £EDIAED 1DORS%E x ET 5. HiHEEZER TS IIIABDOAERER (x —2)(x + 5)x. TNHEEDIIHED
& x3 kU 48em3 LI-DIZH'D, (x —2)(x +5)x =x3 +48. TNEEBL, BRNHMITSE Bx+8)(x—6)=0. &
CT x>012h5, x =6 DE—DRERD.

7] a) x<-3. x>1, b) 3—V2<x<3+2 ¢) x<—-1=+2 x>-1++2

y=x2-2x-2=(x-12-3&L, -1<x<5(IBVTHIS7FHEREZEH<. x = 5DEERKAT, B
13 x =1DEERNT, RIME -3.

9] a2 1MELEFTRE L@EY EFMEBEODIELHS, x BBEFTSE £ B5Y EFMES. LIch'>T, %
{7 (80+x) MO E EMEDFEY Ll (100-%) &5 Y, 5528 Goil) x G3Y EHFBED = (80+x)(100—%) =
—2(x = 60)2 +9800. CN&Y, BOFY LFEEESSHIHDFEMIE 80 + 60 = 140 .

b) a) LY, BOFTY LFLEZ[/EOx=60DEE. JOEE, Fflld 80 + 60 = 140 A.

BOIDESA x ET5E, EVDOESE 10— x &85, [EUOD] A TEOD] KURSITEO-HDREG
x<10—x. IBDEx <5 Thd. —hH EHEOBREE x(10—x) BOT,

x(10-x) 221 & —x24+10x-2120 = (x—3)(x—-7)<0 <= 3<x<7

INEFRFEDRKEEEHDETI S x <5,

[11] a) 5 b) 1 c)E d 5

[E=(CDD<]



5‘673"1@&%@“63&(:%%3% CBOT, RE%En OBRUETI-EE, REGFEHED (1%) B3, Ih

o % BFICARBESICLIEO,. TRDS5, (1%) < % EBB n ARONEED. WD logp £EY, FEOE
TIT. logp3 = 04771 #BOTHEHET B (1 DRBPEBOTRESO[MENEDEIEICFALT).

n>= 208103 _ 90834, .. IHDSE, 21 BRESTNEENENDHB.

1—2logip 3
a) 3 b) -2 c) a
2h —1)2 — (—1)2 4h% — 4
a) f’(O):lim(h "= DT, 4 h:lim(4h—4):—4
h—0 h 5 h—0 h h—0
a4+ m-1)—12 4?2 +4n
b /() = Jim ¢ =1 = lim (4h +4) =4
) SO hino h hino h hino( +4
2
2 h)—1)" = @2a - 1)? 4h? + 8ah — 4h
O fl@) = tim COW N —Qa-DT ARk 8ah—dh e 40— )
h—0 h h—0 h h—0

a) f/(x) =2(x + 3x2) + 2x(1 4 6x) = 2x(2 + 9x)
b) f'(x)=2Bx—-5+2x+3)-3=12x—1
) fl) =2 4+x+D+x-D2x+1)=3x2 (fx)=x3-1CEPNFRTIICRES.)

a) 16 b) 8
3 _ 2 _ _ 3 2
¢) f'(2) = lim @+m —@+h —Qih+1-3 lim A HSh"+ TR _ lim h2 4+5h+7=17
h—0 h h—0 h h—0
d y=7x—-11
&) f(x) = -1 e;faéxcaoe;%. X=0TOERy = —x+1, xz%?oﬁ%ﬁy:—m%
f) f/(x) =3x2—2x—1 g x=1 —%
h) EEEABLE x = _é THEA(E % x = 1 TRUMEO.
) = 32 —4x—2 T, fix) = 0 EBBDIE x = %mwe;%. :
Ci< 2‘3“@ < 2+3m <3EBBOT, CORBTEIEFE & : ,
|
|- 210 24410 3 II
() + 0 - 0 + / |
f(.x) 0 / T"lij( \ @/J\ / 4 =) 71: 0 \ 1 II 3 7
::‘v = \
LietoT s lax = Y0 pozmc, mag - 2210 \ /
327, x=3DEERAT, BAE4E85. H5T7BENEDELSICHBS. /
a) BN ETHBFNEVFRODTx > 0HD 10-2x > 0 HD 16—2x > 0. | \
WAIZ0<x <5. ' B
b) ARV = x(10 — 2x)(16 — 2x) = 4x(5 — x)(8 — x).

) V' = (4(x® —13x2 + 40x))" = 4(3x2 — 26x + 40) = 4(x —2)(3x — 20).
O0<x<S5DFEETV =0&ER2DEx =20 0<x<5DHEHTIZ
BERZESETDLDICHD,

x |0 2 5
%44 +1] 0 | -
V9 ol /144N |0

LIcH' 2T, x=20&EE, BBV BBRKRERSS.
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